“EORFERT2EY BEAN REBRFHERE

SR
‘5%

AR GEEE G A B S 1,027 A =0 ARG TT8 A o FE 43RG 249 4
B w A A A he T

L.

KRB GFFN

(D) FaxzFuFradsFaiagd 91 %
(2) 2 HKFUER ~BHRFRLAEZE 90 %

(3) raHxrzmp ~HFREwHBILAE 97T %

() » P RBEFRFRAESTRLALE_ 8 %
(5) RE%Ft1 Rt RE 95 %

(6) FUBREFHFT (¢ FEAKEE 21 RE) BLARE D

() FRESEF &Y P T F3F? (R FF PR

PR A A 5

1 AthxE <~ | 88.3h| 4 [ EEF5 1. 6%

2 | &g * ®E | 4.9% 5 [CHkE ~#| 0.4%

3 B~ 4. 8%
(7-1) &ggvrer mwi BLAE 93 %

KM R R

(D) FporgFadmrmit R 94 %
(2) Frérterm e RE 100 %

(3) F*H b %5 A A E_89 %
() Ryt kAL A A 295 %
(5) Bt BEmd Rk s bl AL 08 %
(6) Fpor~ it (g2 g5kpb2 2 F ] 58) A AE M %

(7)) &% @& * fap T 5|vn- «&f i (R R FEPER D F I M)

B & | A i g5

1 Apmg <~ | 84.8%| 4 |ChskFE 4| 0.8%

2 | ARV R* w3 | 8.4% 5 [ EEF5 0. 4%

3 Bkg ~# 5. 6%
(7-1) &ggdrerowir BLAE 95 %




ERNN LR S

FEAIN FEHRP

FE - RBIERSGE sl i i i 2AL | A¥ER
LR ELZ B FRENFMFREEST? 14% 50% 27% 6% 3%
2K BT HL L FREDUR ~ FEHKF? 19% 45% 26% 8% 2%
BHFHELT BT FKEDOMP ~ HEE 52 20% 59% 18% 2% 1%
AR IEELT s &?Jﬁ«m” PRBEHTRSES 21% 56% 21% 2% 0%
?’r’)
SR G AT S R F il s £ 1t 1 4e? 23% 53% 19% 3% 2%
GE*ﬁE’%w@i@%iﬁﬁﬁﬁ%%ﬁﬁ&? 16% 50% 29% 4% 1%
(¢ 2 P HRE 2 7 IRR)
il
1. F R PR A 2. PP R R
6% 3% 14% 8% 2% 19%
[ | :J[zﬁfj»iﬁ!]ﬁl 26% - JEF{'Jﬁ 1
= "
=PI =
" T m
" H T = 2 T
50% 45%

3. ERPFFPURIPT ~ AN

20, 1%

18% 20%

REE T2 i 2 T

2%

21% 21%

= 2 2
R R LR
= = W
W B E
RS URREES
59% 56%
543 RS [~ T 7 6. S BURLTE IAE L T
3% 29 4% 1% A
19% 23% 29% 1o
= 2 = ZH
W ERE
= e = R
LR ERREES
RN R URREEL

53%

50%




TARGEFRT RA TP R 2 (R@» FF A > d $1 1)

(1) RPf & TR Y F AR 4T
PR & | BE A ® %
1 AWxE <@ 88. 3% g Ry 1. 6%
mEFRET R | 4.9% Ctorus | 0.4%
Bigkg < | 4.8%
(2) ‘mAdp &+ W2 % F AT
BB 'y %A W e B o
1 [AB&E~H64|23.7% AprxE <8 | 2.8% 15 A8 <~ 24| 0.4%
2 |APrEE <~ TH | 16.5% B#xs @14 2.0% 16 |B#r#E <~ 6| 0.4%
3 |Atr&E <54 | 12.9% | 10 g Ry 1. 6% 17 |B#rxE <7 0.4%
4 ANH&E <104 10.8% | 11 [Ap&xE <3| 1.2% 18 |B#&E <~ 9| 0.4%
5 |AMEE @94 |10.0% | 12 (BH#&xE <~ 10 +#( 0.8% 19 |C#xE <1+ 0.4%
6 |AMEKE 44| 9.6% 13 |B#%x&E~#5+# | 0.8%
7 BEFRT BB 4. 9% 14 |A#zxg <14 0.4%
T-1#HEEV R R > GFNELTBRAZRBNFURRLFEET?
AFBL| B WE O AAE (N
7-1L R i BT 16% 48%  29% 6% 1%
6% 1% 6%
29% ‘ B
R
B

48%

T
= 2 gt




FEAI RFILEP

44%

LI} Eﬁﬁ ?Fx]?il

FPZ RPN R TR 2FiE L i R W PRE | AFAERL
L3 08 A% 3 AN By 9 o SRl ag 57 20% 48% 26% 4% 2%
2R (5B F B AR B TR 21% 61% 18% 0% 0%
30 I S L d T S 14% 44% 31% 7% 4%
ARG R E R RN R S K A 50 20% 53% 22% 5% 0%
B.-h UG LT % & RN R MR A ST 22%  66% 10% 2% 0%
6.5 F & AE s LRGP R or2 it (wH 2 gRpE2 2 22% 51% 21% 4% 2%
) A R)?
A 17 B
LR I S 2 B
6% % 2 20% o 18% 2%
[ | j'zfdlj’il-{’;]ﬁl ] j'zﬁfj’il-%]ﬂl
" "
= = i
=
= IR A
48% 61%
3R 8 Hy A
7% A% 14% 5% -
- 22% ’ N
31% 2 = R
W Rl
= =
] T\ ?Fﬂ] ﬁ"\ u _T\ ilg"]ﬁl

5. JH E R %ﬁ’%%ﬁﬁ iy

0% 2% 90,

66%

2l
Wi
il
ERREE

6 f% 7 PRy [

4% 2%

21%

22%

=
R

= i

| ] T\ ﬁgk
2T




(1) S A R T iﬁiffug&r"f :

I3 K | A i g
AFEE < | 84.8% Ctagxd ~ 4| 0.8%
REFRY RE | 8.4% ERaky 0. 4%
BikEF <1 | 56%
(2) ‘A &<z % F e
BB A O F PR A Rl ik 5
1 [ARE 64 |[21.7% | 8 [AMKE~# 3| 1.6% [ 15 |BskE~#5#| 0.8%
2 AP EE T 1T 3% Az~ 8| 1.6k | 16 |CHr&F <114 0.8%
3 |ABEE <O | 12.1% | 10 |[AwmxE w1l | 1.2% | 17 (BH&FE < 12+ 0.4%
4 AtrsxE 104 9.6% | 11 |AtxE 24| 1.2% | 18 |[BmkE~#TH# | 0.4%
b o|AWMKE I | 9.6% | 12 [BixE~wl| 1.2% | 19 [BHEF 84| 0.4%
6 [AM&E 4| 8.8% | 13 [BH&F w06 | 1.2% | 20 [BHEF I | 0.4%
1 AEFE* R | 8.0% | 14 [BHuxE~# 104 0.8% | 21 [ FEe 0. 4%
T-1 #HEEF R DR T FRELFRLZ RO TREFTESFT?
A¥mi| #i FF AL | AErad
4 S 19% 52%|  24% 4% 1%
7-1."&’@%@%@%@ 0 0 0 b b

4% 19,

24% ‘

52%

19%

? Eﬁj?ﬁﬁn
m ji

A
R
u Eﬁﬂ ?ﬁ‘ﬁﬁl




